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Instructions

Answers appear on the ANSWERS page. Solutions appear on the SOLUTIONS page.
1. [ (5a* +42% + 62 + 6) dv = 2 + 2* + 322 + 60+ C
2. [ (sin (x) + sec (z) tan (z)) dz = — cos (z) + sec (z) + C
3. j:::f (62° + 42 + 4z) do = 221
4. [ (8z® + 12332)10 (2% + z) do = 557 (823 + 123:2)11 +C

5. [sin (m3 + 33:2) (6x2 + 1295) dr = —2cos (m?’ + 3372) +C

6. 35721%950395 = %ln ‘35[‘2 + 6.’1!‘ +C

7. 4L In(sin (z))] = Z?j((;)) = cot (z)

8. & [In(32% — 92 +5)] = 5352~
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Alternativley:
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10. f::_ll (372 —3x + 1)3 (8x — 12) dx = —624



